o190
char, signed char
unsigned char
int ,sign int
unsign int
long,long int,signed long i

unsigned long,unsigned long int

float (7 pr7ninsa)
double (15 pr1ninzo)

long double (19 prinnzo)
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3.4e+4932 3.424932
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if (a>b)
{

printf(" a gadol" );
H

else

{
printf (" b gadol ");

}
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else - ifnimpon
case -l switch mimgon

A0S

NIRDY? 31¥°2% MTps

for mimpen
while nmigon
do while nmigon

{continue -1 break Ty Tumpon)

if n7IP2
if  a7paa 5w noan

if (term)
{

expression a;

¥

else

{

expression b;

h

MW
JRMAY else A7¥Y 7210 KD

.M207101 0°°30 MNDY 7217 XY ORINT IR DAR AR

.0°99o17 0 By QRN 7197 257 DAY D190 209 RING
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if (a<55)

{

NXRNT

printf (" FAIL ");

}

else if (a=>55 && a<80)

{

printf (" GOOD ");

}

else

Printf (" VERY GOOD");

IRANT

switch (x)

I 3 R

-] 0 Cn

+ O o

[ MRl 0% |

{

case 1: printf(" x=1");
break;
printf( " x=2");
break;
printf (" x=6");
break;
printf (" not found");

break;

case 2:

case 6:

default :

else if R7172 W wH Nh1an

If (exp)
{

else if{exp)

{

else if{exp)

mava
DPpRw NWRAT,TOR OR1D 27 yXan®

.TUNY 729197 712°0977 770 99 BV 13731 170

switch DN

switch(exp or variable)

{
case constantl: command; break;
case constant2: command; break;
case constant3: command;break;

case constantn: command;break;
default: command;

}

MY

501 Y12P constant

switch -7n P10 DR XX break
120 XY default

. switch -1 nRX™M x=2 70°971 N°10N 2= X OX

#include <stdio.hz= NPT
void maini)
i

Int times = 10;

printf{"Printing the numbers form
10 to 1: \nhyr"):

while (times = 0)

printf ("%d ", times);
times--;
h
¥

while 8912 IR

while(boolean condition)

Nahimbrh

nYXany ARI27 0PNn 0°IA02 MNP0 CRINT O
TWRD ,IRDT 191 PRINT DR NPTI2 WY DX VD

I WM NYXANA KD ARD9
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I 3 R

-] 0 Cn

[==]

do- while 789 nIR"7

#include <stdio.hz do
z “NMIT [
2 void main()
3 {

int result = 0;

printf{"The sq of the number from 1 to 10: \n'\r™); whie (condition)

-] 0 Chn

do
g 1
9 result += 1; IAR?Y 002W A DR NYXAA AR
10 printf{"%d \n'r", result*result); 0°°PN7 SRINT OR .IRPA P72 NYXan 10

while (result < 10); Rakobiirialal R dut oAb vl Bemislsin el b

0 K
et

for IR®Y® NINT

D°INWR D17°R VIR0 ORIN ,D0INWH DINNR 1 2OpR0 wIhwn 012 IRI9h
IRDI277 AR R QR ORINT NPT NYVEAND IWT PR .00 PINNR YXann PRI P2
SRR PO 92 DY ANNT qWOR .2°NWH 21T YEANA ARDIZT VX IR, NV¥aNm

sinclude <stdio b far {initialization ; boolean condition ; increment)

void main() "NANT {

{
int times;
printf("Printing the numbers form 10 to 1: Y\nhvr"); 1

for (times = 10 ; times > 0 ; times--)
printf ("%d ", times);

break . continue n7Ip>

JIRDIZA IRITY MW 9K MTIPD
DW X277 ¥IX°2 TV DIRMT DY NPT continue TIPDT AR NRYY 101 break X777 NATva
IRDI9
if (condition)
break;

JIRDIT AROXY ORINT 02PND OX

if fcondition)
continue;

JIRDIZA N9OIND T MR TWAn DY 297 ORINT 2°pNn oX
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2929Yn
LOPTIRI QW NIWIARD OPOR 221101 791V 7702 2OTI0NT 2PN W W K1 VR
. char Xn 95 array owa 0°kn 7wy W TR 9 A5 - char array[10]

.7IYRA PWRYT 2R 22 19017 NodT — char[0]=22

.7Yn% 22NN NPYYY TR %Y 7m0 -int data[4]={ 12,34,56,00}

by

DN 0°019°U1 DPINWH 273777 N1 TR QWAW 7327 PUORAY )

struct address .

{ N struct name_of_struct
char city[20]; _
char street[20]; variables
int num_house; +;

long code_area;

¥

RyhimlabRahialipalrhisiohe
JT3207 N2 TIWR? NN nvop — gets (address.city)
7P manwn? T90n Nvw — address.num_house=1916

:2°32% HWw 2°95wn

address Mon 0121 wnn 17%° — struct address st[5]

.%1wn 73ama num_house 7aNwnR? 72°n3 st[1].num_house=2067
SWAnn 1323 codearea manwn? 72°n3 — st[4].code _area=12345678

2opaxn
12N 201 1IN1 22017 FINWR KT P2X
Y2X7 KT AINWR 2V 0190 APR PY DY ¥°¥1 9V ATION2 Y12p 1w 9T

¥°2¥1 M0A JINWA NITAT
int 2107 TINWA Y Y020 WK L0281 201 TINwR Y 100 - int *px
chae 201 7INWN DY ¥°2X° WK ,¥°¥N 0P 7INWR 9Y 71757 — char *pw

TAWT Y2281 INNR

. PX ¥72¥m) X 7wy OY 3100 -int X, *px

. X INWNT 2w N2INDT DK 220 0RnT - xp=&X

. X=6 ORMAY TW AW . X TN 6 5 Arvu - *xp=6

0% 01 TINWR DY AYOTIN N°A9197 71572 .0°7P0N C1w ¥ N92013Y (v
ANWAT PY YRANID 9907 NN YIARAT 2197 192010 NI7IYD2

2I0YRY 2waNn
Y92¥19 N2IN377 DR 772972 1001 7207 ,TI9NT D ANWRIT N2IN02 KX TV NWRIT XN
7vnn oy Tavh 7o

RANT

7Y Y a1on - int array[10]

02N DY 70N - int *parray)

parray=array 7 a1 Y2817 TN 2w A1WKRIT N30 NYY — parray=&array[0]
J2W ANWRIT NANDT R TIWNRT W v
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aDws B N1 nPRpD

.175\u%p NXPID

72N v - putchar('a')

. CMINwn? 712N 2w vop - c=getchar()

. DN YW o971 — printf (" L. ")

.:0°R27T P27 NN 9% 2w 0201 2NAnwn Yw 7097 — printf("%d %c%f%s",a,b,c,d)
"mxT 00n —d

mn-c

05w KD 00on float Mon "oon —

A — s

JPORORT AN X 7INwn? NTopnnn 101 nwop — Scanf("%d",&x)

MNP 219°0 NP

273 TR 0D NP neop - gets (77yn_aw)
.77Yn TN NNANR NODTA - puts (77yn_ow)
. X -2 ARXINT NI NNATAT TR IRXD - x= strlen (77yn_aw)

VT DMOAND NRPNYIA MPR NNANA - strepy (730 DINR, MR NNann)
STV NNAAR 71072 NOONNA MPRT NN - streat(TYY_NMmA , Mpn_NNann)

LOPY °X2aP NPXPID

FILE-77 73217 ¥°287 201 7INwn 727307 w° 1opw *¥2p oy 772y 2199

. FILE n12n% y°28n 2on mnwn - FILE *fp

fp ¥2281:7, 121 712200 \ AP AW M0 L,y YW Ao - fp = fopen(y1pn aw WA 20)
72N OY Tav? 100 nONK 7092 7°va we ok NULL 22pn

AR 3729 KD yapn nmo - felose( FILE 1an% 30axn)

.00PY YRR N NP - ¢ = fgete( FILE n1an%_yoaxn)

200pY YAIRP2 N N0 - fputc(in, FILE m1an%_ 30axn)

DW 5291 TNR L,AMNAY YRR 7w nRMp — fgets(nnamn,’an 7R, FILE m1an% 30axn)

A\ n' T By amIma 7w 2o LPEPI0A 1T NN

JTPXPIDY NN DR 0°aMD — fputs(nmnn, FILE 71212 v°axn)

Y2127 NOOTIN 77P2 NN LY2IP 9D NooTa - fprintf( FILE_ 71215 231,772 nnann)

J19v yoaxn FILE m1an% yoaxnnw

WA 310
7292 %P —
7202 0D —w

P Y27 o0 —a

1Yo 19P IpNaR 1710

PN mowIn ¥ — data ,3pnnn nAIND - address - outportb(address, data)
X 7Inwn? address 1200w VYR 1PN 1IN VP - x=inportb(address)
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7701 R2Y 7V NP ROW oxpe L1

void function ()

%07V N9Apnw EpND 2

void function(int X, chary, ....)

TIN2 TIVA APWI OYR 20INWRT DR TR WO {
D°0W "W 92PN "9 RANTR L PXPN0I Yy ronn . e
. y-1X B R RRED
}.

W ATRa Ep L3

9 Y 5
STVTIAY 7Y NPARRN RPND 25WH 10 int function ()

u2o\?p MM NPXPID

T HW 09777 MOWOR O ,07WIAW NN o v 10971 — printf ("hello %d  ",a)

, N NAXA — %cC :0°D0N O°12°0 .70 DY SHdXT TIW0 VDY a JINwna W I iRnAITA LInwn
.17 NooTT — %s ,09W K2 1901 Naxn — Y%f

. @ mInwnY 012° W .TonY 70 oY NTepnan 1oon nuhp -scanf("'%d",&a)

. a mnwn? 71210 5w ASCII 799 nvop — a=getch()

. a mInwna ®¥n1 19w ASCIT-17 77y WK 7712 10 YW 70977 — putch(a)

.Jom Pl -clrser()

.70m1 %Y 107 NYUap — gotoxy(X,y)

(N11w ") ms-2 0°702 W Awn v — delay(1000)
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